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Question 1

Polarisation of light proves
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Question 2

Wave interference is the phenomenon that occurs when
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Question 3

When unpolarised light beam is incident from air on a glass plate (n = 1.5) at 50° angle
TYN NISS FTATF A A (ATF FICHI (ATG (n = 1.5) 50° (HIT TGS TF O~

Question 4

Which of the following provides evidence that light has a wave nature?
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Question 5

Two light sources are said to be coherent if they
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Question 6

In an LCR-series ac circuit, the voltage across each of the components L, C and R is 50 V. The voltage across the LC-combination will be
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Question 7

In an LCR circuit, capacitance is charged from C to 2C. For resonant frequency to remain unchanged, the inductance should be changed from L to
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Question 8

The peak value of ac voltage on 220 V mains is
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Question 9

Which of these sets of logic gates are designated as universal gates?
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Question 10

The electric field inside a spherical shell of uniform surface charge density is
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Question 11

The quantity which is not conserved in a nuclear reaction is
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Question 12

A radioactive element has half-life period 1600 years. After 6400 years what amount will remain?
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Question 13

An electron emitted in beta radiation originates from
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Question 14

In a nuclear reaction
6He — e— + 6Li +X
Here X is

6He—e- + 6Li+ + X
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Question 15

Electrical conductivity of a semiconductor
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Question 16

What is the relation between currents

in the figure below
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What is the relation between currents

in the figure below
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Question 17

Faraday’s laws of electromagnetic induction are consequence of the conservation of
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Question 18

Two inductors of inductance L each are connected in series with opposite magnetic fluxes. The resultant inductance is (Ignore mutual inductance)
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Question 19

Work function of three metals A, B and C are 4.5 eV, 4.3 eV and 3.5 eV respectively. If a light of wavelength 4000 A is incident on the metals then
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Question 20

According to Einstein’s photoelectric equation the plot of the kinetic energy of the emitted photo-electrons from a metal vs the frequency of the incident
radiation gives a straight line whose slope
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Question 21

If kinetic energy of a free electron is doubled, its de Broglie wavelength will change by factor
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Question 22

Which of the following can be a wave function?
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Question 23

A full-wave rectifier circuit along with the input and output voltages is shown in the figure:
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The contribution to output voltage from diode 2 is
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Question 24

Potential barrier developed in a junction diode opposes the flow of
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Question 25

The breakdown in a reverse biased p-n junction diode is more likely to occur due to
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Question 26

As an object approaches the speed of light, its mass becomes
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Question 27

According to Einstein’s Special Theory of Relativity, laws of physics can be formulated based on

HIRVOIRAT RO ACAFFORITAE ©§ WA, ARSI A BT (T RN ACATE IV FAT (IS A O ZA

Question 28

If 13.6 eV energy is required to ionise the hydrogen atom, then energy required to remove an electron fromn =2 is
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Question 29

Which of the following is not an electromagnetic radiation ?
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Question 30

Which of the following postulates of the Bohr model led to the quantization of energy of the hydrogen atom?
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Question 31

Io is the intensity of the central bright
fringe in the single slit diffraction
pattern. If the slit width is doubled the
intensity becomes
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Question 32

Which of the following is conserved
when light waves interfere with each
other?
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Question 33

Coherent light sources are those
who
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Question 34

In an LCR circuit, capacitance is
charged from C to 3C. For resonant
frequency to remain unchanged, the
inductance should be changed from L
to
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Question 35

Seebeck series helps us to determine
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Question 36

The direction of current in a Cu-Fe thermocouple is from Cu to Fe
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Question 37

In case of a moving coil galvanometer the deflection is
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Question 38

In case of a moving coil galvanometer the deflection is
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Question 39

A magnetic needle placed in a non-uniform magnetic field experiences a
A6 SPTIFA (BIFF (Flad W

A6 ISP *EAPI (B A4l =0 5il6

Al S g 9l 20T

Question 40

The quantity which is conserved in a nuclear reaction is
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Question 41

Potential barrier developed in a junction diode does not oppose the flow of
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Question 42

According to Einstein’s Special Theory of Relativity, laws of physics cannot be formulated based on
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Question 43

Which of the following is an electromagnetic radiation
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Question 44

Which of the following provides evidence that light has a particle nature?
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Question 45

Half-life of a substance depends
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Question 46

For ionization of excited Hydrogen atom, the, required energy is
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Question 47

The energy equivalent to mass defect is called
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Question 48

When the current changes from + 2 Ato - 2 A in 0.05 second, an e .m .f. of 8 V is induced in a coil. The coefficient of self-induction in the coil is
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Question 49

Two coils are placed close to each other. The mutual inductance of the pair of coils depends upon
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Question 50

If L, C andR represent inductance, capacitance and resistance, respectively, the combination which have the dimension of frequency is
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Question 51

The Bohr model of atom:
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Question 52
X-rays have larger wavelengths than
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Question 53

Dielectric materials are basically
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Question 54



The dielectric constant for material with electric susceptibility of 5 is
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Question 55

Alpha particle emitted from a radioactive material is
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Question 56

Minimum interplanar spacing required for Bragg’s diffraction is
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Question 57

For destructive interference to take place, the path difference between the two waves should be
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Question 58

The relationship between minimum wavelength of X-ray generated from a target metal and applied voltage is given by
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Question 59

Lenz law is based on the conservation of
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Question 60

As per Faraday's laws of electromagnetic induction, an e.m.f. is induced in a conductor whenever it
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